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[Participant ID

Participant Name

Test Center Name iON Digital Zone iDZ 1 Sikandra
Test Date 12/03/2021

Test Time 3:00 PM - 4:30 PM

Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

¥ 2019 F 9T F FF @ 3 FEEvET AT £ 2
Ans X 1. agdr

X2 odr

Vv 3 gradr

X 1 aedt

Question ID : 94891115239
Option 11D : 94891160955
Option 2 1D : 94891160954
Option 31D : 94891160953
Option 4 ID : 94891160956
Status : Answered
Chosen Option: 4




A2 Fgwa oz T F RE 99 waa Rew @ed & ofenfya G

ans X 12014
X2 2013
v 2015
X 4 2016

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115234
94891160935
94891160936
94891160934
94891160933
Not Answered

3 W e F Alg N8 R gt F aREfdT = §2
Ans X1ﬁ o

v 2 T
K 3 FHET HEA
X 4 TR
Question ID : 94891115214
Option 11D : 94891160856
Option 21D : 94891160853
Option 31D : 94891160854
Option 4 1D : 94891160855
Status : Answered
Chosen Option : 2
Q.4 + N
mﬁfg'éﬁma?r‘rrafrmm & FAT T SFHeT 9T FAT ZEM?
Ans X Og St el
X 2 &t F=r g Sreet
v 5 TE g AT
X 4 gt A T g oFTeel
Question ID : 94891115212
Option 11D : 94891160845
Option 2 1D : 94891160847
Option 31D : 94891160846
Option 4 1D : 94891160848
Status : Answered
Chosen Option: 3




Q5 =fy g FewH & AgER FAMS (LCM) 24 § 3R dwamsd & e 1 2 & o @ s &=

TUHEA AT DT
Ans X1 820
X 2300
< 3 280
v 2 288
Question ID : 94891115274
Option 11D : 94891161096
Option 21D : 94891161093
Option 31D : 94891161094
Option 4 1D : 94891161095
Status : Answered
Chosen Option : 4
Q.6 g@er & FHe: 100, 130 3 150 qoies avelr i wamat & & Faer 50%, 60% HR 70% 37 S
T 3HF o TTedi F AU T fhdaT g m?
ans - X1.70.1
v 2 61.32
X 3 555
X4 7123
Question ID : 94891115284
Option 11D : 94891161134
Option 2 1D : 94891161133
Option 31D : 94891161135
Option 41D : 94891161136
Status : Answered
Chosen Option : 2
Q.7 o = o
TE cos28°+ s5in28°=k §, @ cos17° & AT AT =T
Ans k
e
2
X2 =
V2
k
v —
V2
X 4 V2k
Question ID : 94891115300
Option 11D : 94891161199
Option 21D : 94891161198
Option 31D : 94891161197
Option 4 ID : 94891161200
Status : Not Answered
Chosen Option : --




Q8 w R FR TF AT T3 AF I aR vt mA4Hr gy F 0 &, & =9 e =7
Bt - & 0 AR ¥ A e A AT

Ans ) a8
v i —
11
10
= 2. i
13
7
X3 —
10
L
x4
8
Question ID : 94891115282
Option 11D : 94891161125
Option 21D : 94891161127
Option 31D : 94891161128
Option 41D : 94891161126
Status : Answered
Chosen Option: 1
Q9 _: o
afsa e FeR= fFE 8T Fcg e & JE A 87
Ans 1. STTATCTH
X 2 Hiqger
3 o i
Vv 3 FHUF
X 4 ey
Question ID : 94891115209
Option 11D : 94891160836
Option 2 1D : 94891160835
Option 31D : 94891160833
Option 4 1D : 94891160834
Status : Answered
Chosen Option : 3




W Gl & ¥ 5w asw $ dan e @ w6 a9 8

Ans

X 1. HGH

X2 B

X s A
v 4 FramerT

Question ID

Option 11D :

Option 2 ID
Option 31D
Option 4 ID

Status

Chosen Option :

194891115222
94891160886
1 94891160885
1 94891160887
194891160888
: Not Answered

@ S & foraer Tt H dAT seree ¥ 39 g 32

Ans X1 =Y
X2 B
Vo o
X4 qT
Question ID : 94891115223
Option 11D : 94891160891
Option 2 ID : 94891160892
Option 3 ID : 94891160889
Option 4 1D : 94891160890
Status : Not Answered
Chosen Option : --
Q12 37 R #1737 Y, F GrAafET gEer # gedes REd (7) F TE W A T 2
D I N S
ans X1 W
X2y
X3P
v X
Question ID : 94891115269
Option 11D : 94891161073
Option 2 ID : 94891161075
Option 3 1D : 94891161076
Option 4 ID : 94891161074
Status : Answered
Chosen Option : 4




Q13 wmﬁmsocm%ﬁmm,mma:g F TUET g1 39 T @ ST AT
FifeT, g oAm, 399 HO9 F AT F el 27

Ans
X1 640 cm?
v 2 625 cm?
X 3 620 cm?
X 4 600 cm?
Question ID : 94891115294
Option 11D : 94891161175
Option 2 ID : 94891161174
Option 31D : 94891161176
Option 41D : 94891161173
Status : Answered
Chosen Option : 2
Q.14 e gz smor & TIGER’ & VKIGT forer smar & 3t ‘LION' @ ‘NKQP' forar e &1 =9 g2 s
#F FOX = & frgr Seam?
ans X1 EQW
v 2 HOZ
X 3. DQV
X 4 GQY
Question ID : 94891115244
Option 11D : 94891160975
Option 2 ID : 94891160974
Option 31D : 94891160976
Option 4 ID : 94891160973
Status : Answered
Chosen Option : 2
Q.15
342 443 6
— — FT AT AT HiAT
Ve—V3  WJe—y2 B—12
Ans x 1.1
X 2+/3+42
X3 V32
v 4 543
Question ID : 94891115279
Option 11D : 94891161116
Option 21D : 94891161114
Option 31D : 94891161113
Option 41D : 94891161115
Status : Answered
Chosen Option: 4




A1 9 & Teguly F AUy &, IOl 97 F IER FF 7@ FEm?

MK aRE % FEw Famm
A 2 gurEES
X 3. ITRIGH IO & JISSIH ITITefrer
V4 TSI WAT F U HemeT

Question ID : 94891115228
Option 11D : 94891160910
Option 2 ID : 94891160911
Option 3 ID : 94891160909
Option 4 ID : 94891160912
Status : Answered
Chosen Option : 4
Q17 Tr=ffRe # & 5 sEqE seweT @01 W ity ane $ TR & e g2 dsee &1 amT
FETTT TAT AT?
Ans X 1. QMg FaTH @I
X 2 IREEY g e
v s A fag
X 4 9H THAR HEIA
Question ID : 94891115219
Option 11D : 94891160875
Option 2 ID : 94891160874
Option 31D : 94891160873
Option 4 ID : 94891160876
Status : Not Answered
Chosen Option : --
Q.18
FyaeAr e o #Fr s fFE T @rgé‘%‘?
Ans x 1 =
v fER
X 3 of¥em Femer
X4 ifgem
Question ID : 94891115208
Option 11D : 94891160831
Option 2 ID : 94891160832
Option 3 ID : 94891160829
Option 4 ID : 94891160830
Status : Answered
Chosen Option : 2




Q.19 aamaaﬁa:ahagcmgmﬁ, 75% HAacanait & Adee G, BEE ¥ 2% 79 iy o e
amwaﬂmaﬁmzmHﬂmgq,ﬁgﬁr%um’i#m%#wmmgmﬁmﬁ
AFETHT HT T FEAT A PG, FaF Tede ATEET Hao T A ST TRl B

Ans X1, 16200

v 2 16800
X 3 16000

X 415800

Question ID : 94891115290
Option 11D : 94891161160
Option 21D : 94891161157
Option 31D : 94891161159
Option 41D : 94891161158
Status : Answered
Chosen Option : 2

Q.20 37 37-3M@ = T FY, ' FU MW T F TG F T F TY 7 Fafedd &7 F 2w B

Ans

€
-©

Question ID : 94891115266
Option 11D : 94891161063
Option 2 ID : 94891161061
Option 31D : 94891161062
Option 41D : 94891161064
Status : Answered
Chosen Option : 3




Q.21

Ans ) T

1. 8s
v 20

b5

30
T

40
b5

4, —
x 60

e (1+tane) (1 +tanda) =2, @ € (0,2) ¥, & « F == 717 HT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115299
94891161193
94891161194
94891161195
94891161196
Not Answered

02 =3t @ wiF @ FeTY, dEAE vE R gdY TEg | dafed 87

s X1 aiiE (Gond)
v 2 T8 (Sentinelese)
X 3. @ER (Kharwar)
X 4 sfreT (Bhil)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115226
94891160903
94891160901
94891160902
94891160904
Answered

1




Q.23 = Rw =v wee AR Tt # caeEe semme w1 3k 5w o wa ¥ P, o w7 @ s

Ans

T I TS 8?7

FU

|. $8 =0 &I gFM W I S I o 99 e 97 gl

Il $8 =T & g WX a0 S A #1879 AT 9 g9 gl

Il 37 = # g T T A @ 9w de et Ht Ffee €
Ei=acs

() 37 17 #r e W I A A Fo AT T T A, /g gorraa E
(i) 37 = $ g WA T AT HEHEST AT Hedd geree &

(iii) 57 = F gFEE W AN T A T T HehT FEE T

V' e T (i) 3T (i) 9T = 2
X 2 Faer oy (i) 9T FaT 2
X 3 Fae @y (i) AR (i) ToF F E
X 4 Faer fass§ (jii) qrereT war B

Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

Question ID :

94891115252

194891161008
1 94891161005
1 94891161006
194891161007
: Not Answered
Chosen Option :

Q24 73 fawew @ w3 &Y, SrwE Ay e ¥ A€ W §, S gEY ¥ F g U ¥ ¥

Ans

Faw ; BEeR  dEw 2

v e
X2 958
X3 faEh
X 4 SFER
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891115246
94891160983
94891160982
94891160984
94891160981
Answered

3




Q.25 sty &7 GEER F TG Tog GHIAT F TSI F T F FT @ Ao =R = ww § (R

Ans

2020 d% AT SAAFE F HJAR)?

X FE AT

X 2 fRreqr AT

X 3 gEET FI AIET

v o gEA, 7Y AR AEIH 38qH AT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115207
94891160826
94891160825
94891160828
94891160827
Not Answered

Q26 Zr Fgrat # Orr 10 § 3K 3A% 9T #3467 60 ¥ S TEIW AT Sl

Ans

v g3t 2
X253RK5
X3 73k3
X4 6 3R 4

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115270
94891161080
94891161078
94891161077
94891161079
Answered

1

%7 NEET ufie, 2020 & ¥SH S48 & e f3ar or?

Ans

v 1 THET (NTA)
X 2 TS (UGC)

X 3. @idrewg (CBSE)
X 4 THEHATE (MCI)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115205
94891160819
94891160817
94891160818
94891160820
Answered

1




V2 RrafafEa § @ HF @1 R e 74 32
Ans ?(11%’@3[

v g

X3 A

X4 foaeg

Question ID : 94891115236
Option 11D : 94891160941
Option 2 1D : 94891160944
Option 31D : 94891160943
Option 4 ID : 94891160942
Status : Answered
Chosen Option : 1

Q29 4 cm icfEF =TT 9T TF AR SO H O FAE 9F O 67§ 3 cm = F v B e
FFE U F T WE F FE 4§ a9 H I TR A & A 3R 7 e

Ans 7 g -
X2 g cm
<3 g cm
< 4 g cm

Question ID : 94891115297
Option 11D : 94891161187
Option 2 1D : 94891161186
Option 31D : 94891161185
Option 41D : 94891161188
Status : Answered
Chosen Option: 1




Q30 g wIT F T e T Toeua va B Fud EnT S & S oA

e X ore el
X 2 FAST TAR
W 3 B 3ET FAR
X 4 gt T
Question ID : 94891115238
Option 11D : 94891160949
Option 2 ID : 94891160952
Option 31D : 94891160951
Option 4 ID : 94891160950
Status : Not Answered
Chosen Option : --
Q31 Fim, I Fr gore F FIo7 40% FEFA §1 A T P B FH B 35 BT F ;@ = wRA
ﬁ?ﬁwmﬁmmmﬁﬁmﬁﬁﬁﬁwmw
Are X1 9 R
v 210 e
X311 e
X412 &7
Question ID : 94891115291
Option 11D : 94891161161
Option 21D : 94891161162
Option 31D : 94891161163
Option 4 1D : 94891161164
Status : Answered
Chosen Option : 2
Q.32 zz o ¥ o g AT e, B 6, 10, 15 AT 24 7 RenfEw v W i AT H 5 9w
T &
Ans  of 1. 125
<2 215
X 3 521
X 4120
Question ID : 94891115275
Option 11D : 94891161100
Option 2 1D : 94891161099
Option 31D : 94891161098
Option 4 1D : 94891161097
Status : Answered

Chosen Option :

1




P aRE o7 @ TEAAT o0 FSTREH F IE AT FieA A E?

A XK1 TS 9T
v 2 HEH
X = AR
X 4 of¥=H Famer
Question ID : 94891115204
Option 11D : 94891160815
Option 21D : 94891160814
Option 31D : 94891160816
Option 41D : 94891160813
Status : Answered
Chosen Option : 2
Q.34 + + +
AT F a8 ¥ FH O (SAARC) T &t g fr 9 772
Ans :
X 1. @R wIeResT ¥eT (SAC)
v 2 g BSEeT #asdHe #@eT (SDMC)
X 5. W FHeaT JeT (SCO)
X 4 W TF=T BT (SEC)
Question ID : 94891115235
Option 11D : 94891160940
Option 2 ID : 94891160937
Option 31D : 94891160938
Option 4 ID : 94891160939
Status : Not Answered
Chosen Option : --
Q.35 afy e FR AR vF a3F F HE F A 3 2 ¥ AR FN # e, 5% F 7w § 215000 IR
¢, & a5 = gew (z &) A BT
Ans X1, 20,000
+ 2. 30,000
X 3 32,000
X 4 24,000
Question ID : 94891115286
Option 11D : 94891161141
Option 21D : 94891161143
Option 31D : 94891161144
Option 4 1D : 94891161142
Status : Answered
Chosen Option : 2




Q.36 45 ot & T TAE F oA W AET 16.2 o1 vH o F THE o5 o, Gws sRemwmmEe 9
T % STediR # HET ageT 16.5 & T Afed U 3T o1 F Ty & afEE @ & IhumeEe
g & wdR & Aed 7 9 e 3 A 77 geet 16.4 @ T @aE @ oise S ae o

AR T & wfee g 9 o F A # i 7| A

ans X115
v275
<36
X 4125
Question ID : 94891115303
Option 11D : 94891161209
Option 21D : 94891161212
Option 31D : 94891161211
Option 4 1D : 94891161210
Status : Answered
Chosen Option : 2
Q.37 .
fTE aeRT F wiefa® 3EEET (natural hosts) Hiw 872
Ans 1. qafr
VR T
X N
X 4 gl
Question ID : 94891115216
Option 11D : 94891160862
Option 21D : 94891160861
Option 31D : 94891160863
Option 4 1D : 94891160864
Status : Not Answered
Chosen Option : --
.38 : :
Q g it S g & @7 S & gg e v F amr e ar
ans X1 1542
v 2 1539
X 3. 1540
X 4 1529
Question ID : 94891115221
Option 11D : 94891160884
Option 21D : 94891160881
Option 31D : 94891160883
Option 4 1D : 94891160882
Status : Answered
Chosen Option : 2




Q39 a7 Faw oI s YUis T AT HfST, Swe o5 57 s & " W & -6 35S @

Ans #’1_ 2

X2 4
K35
K43
Question ID : 94891115280
Option 11D : 94891161118
Option 21D : 94891161117
Option 31D : 94891161120
Option 41D : 94891161119
Status : Answered
Chosen Option : 4
Q.40 373000 $r Tfr aT 132% TfF ==t & &R T 10 TE FT TRV == FreweT e gem?
Ans - X1.37,500
/< 229,000
v 3 28,111
X 4 36,112
Question ID : 94891115288
Option 11D : 94891161151
Option 21D : 94891161150
Option 31D : 94891161149
Option 4 1D : 94891161152
Status : Answered
Chosen Option: 3
Q41 a7g =7 & T F TE&IE R (Cheraw) 7 FF T H TRARF AEFAH 77 87
Ans
1.
X . AR
v 2 s
K3 Feaws
X 4 FREE
Question ID : 94891115210
Option 11D : 94891160837
Option 21D : 94891160838
Option 3 1D : 94891160840
Option 4 1D : 94891160839
Status : Answered
Chosen Option : 2




Q42 fpufye 3T & FAPEH F B F FoT F INUTHEET AT ¥ FiT T 3E S
s X1 Fefere arssieaEE

v o drAfTs seaEE
X3 HeAfms methe
X 4 HIATTH SE3TeaEs

Question ID : 94891115215
Option 11D : 94891160860
Option 2 ID : 94891160858
Option 31D : 94891160859
Option 4 ID : 94891160857
Status : Answered
Chosen Option : 4
Q.43 zr z=ofaa, 3 km/h T 3.75 km/h @ T & v fREa Fum 1 3T T@ o w4 8 anaii*qg'?ﬁ‘r
Trem e, %ﬁﬁaﬁmaﬁa#mdﬁm@& o 3T AT J7 H T A g A
EaiE 1l
Ans X 1.6 km
v'2 75 km
/3 9.5 km
X 4 8 km
Question ID : 94891115293
Option 11D : 94891161169
Option 21D : 94891161170
Option 31D : 94891161172
Option 41D : 94891161171
Status : Answered
Chosen Option : 2
W SaRfRT = T AT
02x02+002x0.02—-04x0.02
0.36
Ans x 1 g
< 2. 0.009
v 3 0.09
X409
Question ID : 94891115276
Option 11D : 94891161104
Option 2 ID : 94891161101
Option 31D : 94891161102
Option 4 ID : 94891161103
Status : Answered
Chosen Option : 3




QA5 Frr RRw aw e T CUATEE HeTIS S AR 3W TEW # 90T F, S S0H weAams B (7) F
T 9T 3T FFAT B

Question ID : 94891115273
Option 11D : 94891161091
Option 2 ID : 94891161092
Option 31D : 94891161090
Option 4 ID : 94891161089
Status : Not Answered
Chosen Option : --
Q.46 # s
FIRRT FE HT T fFE T F g5 A
Ans X 1.1929
< 21928
W3 1925
& 41923
Question ID : 94891115220
Option 11D : 94891160879
Option 2 1D : 94891160880
Option 31D : 94891160877
Option 4 1D : 94891160878
Status : Answered
Chosen Option: 3
Q.47 zfr THToT BT 3x—2y =8, 2ax+(a—b)y=48 F T T ¥, T ORI A T AT T T
g
As1.3a+b=0
2a=3b
3.a+3b =0
4 a=h
Note: For this question, discrepancy is found in question/answer. So, This question is
ignored for all candidates.
Question ID : 94891115298
Option 11D : 94891161192
Option 21D : 94891161190
Option 31D : 94891161191
Option 41D : 94891161189
Status : Not Answered

Chosen Option :




¥ e Tz Ow @ Gt =@@9 F P FiF @ oF 39gE aem?

e XK soae o
v 2 3Eae o
X s HgFd o
p ‘EIFI' ohl =T9HAT
Question ID : 94891115213
Option 11D : 94891160851
Option 2 ID : 94891160852
Option 31D : 94891160850
Option 4 ID : 94891160849
Status : Answered
Chosen Option : 2
Q.49 . .
=T # @ 9 1 g9 #89ed F S99sR # Har 22
Ans x
1. @ferE
K 2 rrer
V'3 g
X 4 HTeptaes 3|
Question ID : 94891115227
Option 11D : 94891160907
Option 2 1D : 94891160905
Option 31D : 94891160908
Option 4 1D : 94891160906
Status : Answered
Chosen Option : 3
Q.50 v IeEmEr 40 kmfhé?r&ﬁwamﬁaaﬁgvﬁnﬁﬁamwmmaﬁqgam%l FE sHe
it =rer 35 km/h @ AH B, G A A9 TAeg W15 e fr 3 F ogwd F a7 Hr = 9wh gf
1T i
Ans o 1. 70 km
< 2 40 km
< 3 30 km
< 4 80 km
Question ID : 94891115292
Option 11D : 94891161167
Option 21D : 94891161166
Option 31D : 94891161165
Option 4 1D : 94891161168
Status : Answered

Chosen Option :

1




Q571 @ Hi TUET AR & WalT AN WA WA ot 1 GUH [WERT STeashal 78T 82

e XKooy Ffr
X 2 gaTeel TLTFHSUTH
A3 Fr JereieTerT=Tr
v 4 TH ReaeEtEn

Question ID : 94891115240
Option 11D : 94891160959
Option 21D : 94891160958
Option 31D : 94891160960
Option 4 1D : 94891160957
Status : Answered
Chosen Option: 4
Q.52 =y faw 1w 9W ol F & = ey TR T ¥ T & 3R v HEET €1 3T s W OTIS FU
s X ==
X 2 AFEd
v waere
X4 P
Question ID : 94891115265
Option 11D : 94891161059
Option 2 ID : 94891161057
Option 31D : 94891161060
Option 4 1D : 94891161058
Status : Answered
Chosen Option : 1
Q.53 w4 cm T 8 om AT TE TET =W T TF WG e F Ao T g =@ e g,
Sras R & w8 om &I 9% # T A AT
Ans X115 em
v'2 14 cm
/3 20 cm
X 416 cm
Question ID : 94891115295
Option 11D : 94891161179
Option 21D : 94891161178
Option 31D : 94891161180
Option 4 1D : 94891161177
Status : Answered
Chosen Option : 2




** 1857 =1 R Ree W Y @1 gF gam am

Ans x110 T é
X21HS

X 3 15 39TET
v+ 10 RS

Question ID : 94891115217
Option 11D : 94891160866
Option 21D : 94891160868
Option 3 1D : 94891160865
Option 4 1D : 94891160867
Status : Answered
Chosen Option : 4
Q.55 ( 3 3
0.96)°—(0.1)
> > bl HId FAld HifaT]
(0.96)%+0.096+(0.1)
ans X1, 0.97
< 2 1.06
< 3 095
v+ 086
Question ID : 94891115277
Option 11D : 94891161107
Option 21D : 94891161108
Option 31D : 94891161106
Option 4 ID : 94891161105
Status : Answered
Chosen Option : 4
Q.56 afy 212,000 & T TN Tk A@ET WYUROT =4S T & 9T 5 a9 F 215,000 @ SAT §, o 4= Sy
T ax 7 Fifew
Ans x 1 3 %
K2 4%
V'3 5%
X4 6%
Question ID : 94891115287
Option 11D : 94891161145
Option 21D : 94891161146
Option 31D : 94891161148
Option 4 ID : 94891161147
Status : Answered
Chosen Option : 3




¥ ara # frow S Rfduar gemie Ateg 2
Ans «'1_51-{-

X2 g
X g
X4 A
Question ID : 94891115211
Option 11D : 94891160843
Option 2 ID : 94891160844
Option 31D : 94891160841
Option 4 ID : 94891160842
Status : Answered
Chosen Option : 3
Q58 33 fawes & wo= Y, Troe WY oeg F TE WA §, Fr gEY weg F RS AT
FRE Fifg : P - 3T Ffa: ?
A K. el
V2 gd
X 3 TOraer
X 4 FTHF
Question ID : 94891115264
Option 11D : 94891161055
Option 21D : 94891161054
Option 31D : 94891161056
Option 4 ID : 94891161053
Status : Answered
Chosen Option : 2
Q59 =g3r (ISRO) & TgFa T warge Wex (HSFC) & wrums faders #ia §7
A ; u
" W E. TH 3PS AR
X 2 AR &
L +
X 3 B % FEE
o,
X4 g F e
Question ID : 94891115232
Option 11D : 94891160925
Option 2 1D : 94891160926
Option 31D : 94891160927
Option 4 1D : 94891160928
Status : Answered

Chosen Option :

1




Q.60 uw g P, v I0 & Fx & 13 cm F g W rum &1 Rig P & g9 W @ier o weiEn 7 was

12 em &1 397 & B 7T i

Ans of'1.5 cm
<23 cm
/<3 6 cm
X4 4 cm

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115302
94891161207
94891161205
94891161208
94891161206
Answered

1

Q.61 & R o 3@ F TR AT A, B, C 3T D &1 TOiew g e g g A, i & o e
it B s # PeR A 1 gl B, Sy G o B wr B e e § s
C, gy & I T ATy Al H FEAw Fr HAEOT AT &1 T D, o e qrer we HowEa #

e 4 2

e o ST ar Sy e ¥, g qw T e

\ \
/N

Ans «'1_ %4
X< 2 30
X315
X411

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115268
94891161071
94891161069
94891161072
94891161070
Answered

1




Q.62 ws grg &1 FT Fra, 3TF AHihd Tra F 64% ¥l 12% F gE Ry I F a1 wiowe @7 7a

FaT
Ans  of 1375
< 2 50.5
X 3 52
X 4 48
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891115285
94891161137
94891161139
94891161140
94891161138
Answered

1

W SrafeRE & O T T U & B gE A8
Ans 1 TSI

X 2 3Ty g&er

V3 REr

X 4 offas semer
Question ID : 94891115224
Option 11D : 94891160893
Option 2 1D : 94891160896
Option 31D : 94891160895
Option 4 1D : 94891160894

Status : Answered
Chosen Option: 3
Q.64 37 FEar @ T FY, S MEAratad A F yeAaTae REd (?) F TU 9 3T T B
3,8, 7 33, 53
ans K130

X2 22

V'3 18

X4 28
Question ID : 94891115257
Option 11D : 94891161028
Option 2 ID : 94891161026
Option 31D : 94891161025
Option 4 ID : 94891161027

Status : Answered
Chosen Option: 3




Q6% 2124922242324 ... ... 4302 & HT AT =T

ans 1. 5865
< 2. 8855
v 3 6585
X 4 85B5
Question ID : 94891115283
Option 11D : 94891161132
Option 2 ID : 94891161131
Option 31D : 94891161130
Option 4 ID : 94891161129
Status : Answered
Chosen Option : 3
Q66 15 3;ETE 1947 Fr TaEEAT RGaw TANE & NI FETeAT e Far A7
A o reTeRrar
X 2 Tl (s &3|)
X 3. HgHCTEE (FTEHAT)
X 4 FrroTEY
Question ID : 94891115218
Option 11D : 94891160869
Option 2 ID : 94891160871
Option 31D : 94891160870
Option 4 ID : 94891160872
Status : Not Answered
Chosen Option : --
Q.67 =7 famew 1 wuw &Y, SEA R av wwd $ @ ag FAy g S A R v eee-gea 5 owet &
g
§T . TomEE
A
" NEEHH TR
™
X2 fargpe : %
X 3 ek : UTET
X 4 B==T @ "'
Question ID : 94891115247
Option 11D : 94891160985
Option 2 1D : 94891160986
Option 3 1D : 94891160987
Option 4 1D : 94891160988
Status : Answered
Chosen Option : 3




V Rrafefea & @ #iF @ adeew &7 # &5 a4 i

Ans

v mrEy R &
X2 e dF

X 3 FafeE §%

X o ST e 3%

Question ID : 94891115242
Option 11D : 94891160968
Option 2 ID : 94891160966
Option 3 1D : 94891160965
Option 4 ID : 94891160967
Status : Answered
Chosen Option : 2
Q6 RfRf@a & ¥ Fia a1 ¢ s (BIMSTEC) H9Tea & HeLd #af &2
Ans 1. TSI
X 2 FoTer
X 3 FTAR
v 4 AT
Question ID : 94891115233
Option 11D : 94891160929
Option 2 1D : 94891160930
Option 31D : 94891160931
Option 4 1D : 94891160932
Status : Not Answered
Chosen Option : --
Q.70 vhe AR SEH o & TAS oAU, FAE 16% X 10% @iffe wwgfy s & e W 9 % B
ey ) 7 57 2 96 & e = F w5 A e F NoA § 22,250 30w e §, S A @
T T HRE R e ar?
Ans ' 1..218,000
/< 2.322,500
W 3 220,000
/< 4 220,250
Question ID : 94891115289
Option 11D : 94891161154
Option 21D : 94891161155
Option 31D : 94891161153
Option 41D : 94891161156
Status : Answered

Chosen Option :

1




¥ Sfafta & @ T & S qateT S a8 2
e X e sRar Rfaes

v 2 e REETeas gfeeoT

X s Torer sfEar Afdaes

X 4 9T Seglaed [aiHes

Question ID : 94891115243
Option 11D : 94891160970
Option 2 ID : 94891160972
Option 31D : 94891160971
Option 4 ID : 94891160969
Status : Answered
Chosen Option : 2

Q.72 g v # sw0 (ISRO) & Bfre =7 & o= &7 ¥ v 7777 37w v (Fi¥e-3) (EDUSAT
(GSAT-3)} & w&gor fomar ar?

Ans X 1. 2010
X 22007
X 3 2015
v+ 2004

Question ID : 94891115231
Option 11D : 94891160922
Option 2 1D : 94891160924
Option 3 1D : 94891160923
Option 4 ID : 94891160921
Status : Not Answered

Chosen Option : --

Q.73 &= st @ AT 253 1 3y vee W, qEl wEw @ & g § st el wwn, wger v
v o &, & gudr TEm W fifw)

Ans 1 89
X2 48
X3 84
X 4 54
Question ID : 94891115281
Option 11D : 94891161123
Option 2 ID : 94891161121
Option 31D : 94891161124
Option 41D : 94891161122
Status : Answered

Chosen Option :

1




Q.74 sin34° 4 cos64° — cos 4° & AT AT HI=T]

Ans x1' 1

v20
=%
r R
4
1
XaZ
2
Question ID : 94891115301
Option 11D : 94891161202
Option 2 ID : 94891161201
Option 31D : 94891161204
Option 4 1D : 94891161203
Status : Not Answered
Chosen Option : --
Q.75 yeFgar 2020 9% ST FHEN F HER, PetfEe # ¥ #9 & o A e wei 9@t w9
Ans «
. HATSAETET 9Tt
X 2 SgSd HAS dIEf
X 3 oA mﬁﬁh orét {HTERfIE'Iﬁ)
X 4 TrSgATEr FEE 9ret
Question ID : 94891115230
Option 11D : 94891160920
Option 21D : 94891160917
Option 31D : 94891160919
Option 41D : 94891160918
Status : Answered
Chosen Option: 3
Q.76 : ;
=g 7 ¥ #iF a1 3/ 7 &g 718 &2
e X B T 3ETE
v 2 g1 T e
X 3. FISET TS 3 AT
X 4 AT TET 35T
Question ID : 94891115225
Option 11D : 94891160900
Option 2 ID : 94891160897
Option 31D : 94891160899
Option 4 ID : 94891160898
Status : Answered
Chosen Option : 3




Q.77 gursr F§ gEan @A A (PMSBY) & T8d gueaae #eg F T Wera AT Fa Fr ufFr fhaer 32

Ans

X123 o
A2 310 o
V332 T
X 4 35 AE

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115241
94891160963
94891160962
94891160964
94891160961
Not Answered

Q.78 fu v et AT st F e 7 AR Ta0 R FiE @ ey, aifve w9 @ FuEt #1oawee

Ans

e 2

HU:

o =i, S )

Fo 9, Twee ¥

Tefr =erere, SEMT B
o

|. hrE Wi, SR AT F
Il. Fo s, 34 #)

X1 7 fasey | 3t 7 & Ay || grere FEar B
X2 g7 ar sy | o7 Ty || 9T e 2
v ¢ Faer Ty || 9o T B

X 4 Faor Ty | I w2 2

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID
Status

Chosen Option

1 94891115251
194891161004
194891161003
194891161002
194891161001
: Answered

03




P Grrfaiea # ¥ W wag # F9a sEege Raww afde §2
e X B, RieT 3l Aifeex

v 2 e, R 3R Affee

X 3 Ar3m, fex AT Afae

X 4 Frerg, fex 3k AfEe

Question ID : 94891115237
Option 11D : 94891160948
Option 2 1D : 94891160945
Option 3 1D : 94891160946
Option 4 1D : 94891160947
Status : Answered
Chosen Option: 1

Q.80 T 71T Fuwt 1 HewTA HY N FAC & Gwedl F f@r wr i @1 Teay afFs &0 @ Fuat &
qTeled FET T £7

U

1. T T 9§

2. 3o T 3 §

3. #% deda mEeter

X 7T AT T A o § AR T & wE
X2 TS QU F a STAA § AR T & TE §
v FT deiT T 3 wReter A
X+ To deia gy A8 € g 3 =

Question ID : 94891115245
Option 11D : 94891160977
Option 2 1D : 94891160980
Option 31D : 94891160978
Option 4 ID : 94891160979
Status : Answered
Chosen Option : 4




Q81 g wfaure wetuw #fURTH IR AR Ffew F sEsog 21A ST T ar

A X o3t gfura weitua
X 2 4277 FFUE @
X 3 9431 FfFuE Tu=
v 4 gear Ffgura @ea

Question ID : 94891115229
Option 11D : 94891160913
Option 2 ID : 94891160915
Option 31D : 94891160916
Option 4 1D : 94891160914
Status : Answered
Chosen Option : 4
Q.82 7T 4,0, a,€R A X FRHEATFRT (x—a)?+(x—a,)?+ +(x—a)* =0
A FFAA gE?
Ans
X1x=n(a, +a,+az+......a,)
v? (a, +a, +az+.......+a,)
n
X3 x=2(@,+a, +a;+......+a,)
2(a; +a; +ag+.......+a,)
Xax=
n
Question ID : 94891115296
Option 11D : 94891161183
Option 2 ID : 94891161184
Option 31D : 94891161182
Option 4 ID : 94891161181
Status : Answered
Chosen Option : 4




Q.83 iy RRw a1v Yoot T U e N HR IW TE F TS FL, S SHA TeAGEF Fed (?) F

T oY T Hedr 2

12 2 6 2
8 4 4 19
ane X1 21
v 210
X312
X411
Question ID : 94891115254
Option 11D : 94891161015
Option 21D : 94891161016
Option 31D : 94891161013
Option 41D : 94891161014
Status : Not Answered
Chosen Option : --
Q.84
10+ 25+J108+\J154+1J225 FT UATCHF AT AT HITAT|
Ans

v 4
X286
X310
X4 8

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115278
94891161109
94891161110
94891161112
94891161111
Answered

1




Q85 Fmady 2021 # s 3R HERE F &9 Wl T e e @0 F Y ‘w3 g 9l

Ans

(Player of the Series)’ TTTFR ¥ BFATAT f3raT T1am?
X mEsT 9T

X 2 eTHeT forer

vt FET

X+ whe fEmy

Question ID : 94891115206
Option 11D : 94891160821
Option 2 1D : 94891160822
Option 31D : 94891160824
Option 4 ID : 94891160823
Status : Answered
Chosen Option : 1
Q.86 Fmr fow av A-AE F 4 =ut & e ang ¥ v T gew TEE oA (Gt S gem #) s
T (FAF TIC H) H FAA TA E AE F UK WA EE 0 5T 75w &
India's Textile Exports
200, 450
430 400
kv 330 350 350
Y 350
% a0 280379 280
‘E 200
& 150
100 I
50
0
2004 2005 2006 2007
Years
m Quantity = Value
(WEst - India's Textile Exports - TR #1 379 =19, Quantity - AT, Value - J&)
afE 2007 #, BE BT v ST FEst @ 9ig HeAT &7 2004 & WA &, & 2007 # v v e
N TqeT (FT FTIC F) T v geme
Ans  of 1. 3825
X 2 5293
< 3 500.7
X 4 3755
Question ID : 94891115259
Option 11D : 94891161033
Option 2 ID : 94891161034
Option 31D : 94891161036
Option 4 ID : 94891161035
Status : Not Answered

Chosen Option :




Q.87 Pt afte & o= o=t ¥ o B 85 # 9t $ 95 F R geTeer & I st

& wEar gafs s &
=T | AR | 3eo) T | Fe R | U9 | ERe

ELs

2012|410 |300 250 280 | 440
2013 |500 |400 280 320 |400
2014 | 450 |450 240 260 | 350
2015|320 |500 400 400 |380
2016 |500 |430 540 350 |420

2012 & 2016 & &l Rw 7 o= F ¥ W Uo7 § #F A AT # vEw # ~gAas 9fded

= &
e XK. BeaR v
X 2 g
v 5 REr
X 4 FJew gaer

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115260
94891161037
94891161039
94891161040
94891161038
Not Answered




Q.88 =y v vrv Ui =E F U a¥ & S v o g RAfRe & v v aw saw e gutor
oE WE F HUR T AT BT AT 997 F e &

EXPENDITURE OF A COUNTRY ON VARIOUS SECTORS
Transportation

48°

s

Interest on
debt 54°

Education 55°

TsT - Expenditure of a Country on Various Sectors - faffies 89 ¥ v g gawr e 710 &,
Transportation - T98#, Healthcare - TaTEsT FGTT, Education - e, Military - ¥+7 T=T, Interest
on Debt - HUT 9T =4, Industry - 3T

ofT 37 9 ¥ 3T ‘HOT W =S W =mw f TE qRY 90 FT of, o 37 ¥ F e meh A
& W For foadr TRy (T s H g o

A 1 2600 FI3
X 2 71350 T
X 3 2500 FE
X 4 2300 FE

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891115261
94891161043
94891161042
94891161044
94891161041
Answered

1




Q.89 #=r R wrv sr-aw # R 2Tl 3o FOer F e @t X, Y #k 2 ggnr 9w ast & g e

Ans

T TRoIT IeUE (FAR A H) F U AT §| WE F AR T AT BT 0 127 F 300w &)

Production of chocolate (in thousand tons) by the three branches

& 8 3
-

Quantity in thousand tonnes

LRI e

Years

=BranchX «BranchY

~Branch Z

(Fiest - production of chocolate (in thousand tons) by three branches - de a3t Zanr T wr
RS IES (FFN &9 #), Quantity - AT

= 9T aut ¥ SN Fuer dr e wmEnst # ee soaes et ar?

XX
M2y
X3 X3ty

vz

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

94891115262
94891161047
94891161045
94891161048
94891161046
Answered

1

Q.90 #Hry 2w v A faeedt # ¥ 99 Reey 5 a8% § goa ¥ i v swee ¥ srdeE Reew #r

Ans

T FL

< 1. EHVS
v 2 BFWT
< 3. ACZX
& 4 MONL

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

94891115263
94891161051
94891161050
94891161049
94891161052
Answered

2




Q91 37 FwT F TIF F, A MEAtatEd Aol F weAaTaew B (7) F T 9T 3T THAT 2

98, 116, 134, 152, ?

Ans o 1.170
X2 174
X3 168
X 4172
Question ID : 94891115253
Option 11D : 94891161009
Option 2 ID : 94891161012
Option 31D : 94891161011
Option 4 ID : 94891161010
Status : Answered
Chosen Option: 1
Q.92 =7 3ER-TaEg F TOH HY, FA EAET ST F TGS NEA (?) F T W H Tl 2
pi, mg, jd, ga, dx, ?
ans X 1. ga
X2 az
X 3. mc
Vv 4 au
Question ID : 94891115258
Option 11D : 94891161030
Option 2 ID : 94891161032
Option 3 ID : 94891161031
Option 4 ID : 94891161029
Status : Answered
Chosen Option : 4
Q.93 =1 faw a7 Yo F AAEE TS FY N IW TS F TS FL, A IS A= TEA () F
T WY 37 Haar £
(o o (10
Ans ( 1.8
X25
<36
X413
Question ID : 94891115255
Option 11D : 94891161018
Option 2 1D : 94891161019
Option 3 1D : 94891161020
Option 4 ID : 94891161017
Status : Not Answered
Chosen Option : --




Q.94 iy fRw a1v et T CUATEE TS S AR 3@ TE A0S HL, S S0H TeAa=E Ged (7) F
T 9T HT Hebal 2

E 3|2 8|6

60 5 ?
A X148
V2 28
X3 14
K42
Question ID : 94891115256
Option 11D : 94891161023
Option 2 ID : 94891161021
Option 31D : 94891161022
Option 4 1D : 94891161024
Status : Answered
Chosen Option : 2
Q95 =3 afFw F TOF F, I TEAHET ofie B EAT F AR AgH T TR T
Ale|O
Ans
v at < O
X 2 A g
X3 °
r - 0
Question ID : 94891115271
Option 11D : 94891161084
Option 21D : 94891161081
Option 31D : 94891161083
Option 4 1D : 94891161082
Status : Answered

Chosen Option :

1




Q.96 Ger & T ¥ FaT, “AY TET F sHelY 3 FT Ue & TAT § T AT 37 @G $7 It §1° G @

FT FHET T F e 37

Ans XT S:H%

v ofy
K3 ofy @ fBar
X 4 Ryar
Question ID : 94891115248
Option 11D : 94891160991
Option 2 ID : 94891160989
Option 31D : 94891160990
Option 4 ID : 94891160992
Status : Answered
Chosen Option : 2
Q.97 Ffx Rz 3= W F 3eaX F AT 30 FeX Tom, 3HS WG T Fr AT 40 Fex =Ten, W 3o f A
25 #rex =en AR T 9few & 3R 40 Hex 997 37 39 T W §A F g § §O 5 Gle &
o = 38% 98 9% I Sead &1 3T 30 HiE T GEl & g # SN & 91 el g AN e
foam 7 2
Ans
X 1. B5 HrEy, 3caT
v 2 55 A, gravor
X 3 85 HeT, 3eX
< 4 85 Y, gfaor
Question ID : 94891115267
Option 11D : 94891161068
Option 2 1D : 94891161065
Option 31D : 94891161067
Option 4 1D : 94891161066
Status : Answered
Chosen Option : 3




Q.98 iy Row o Yot 1 eUETES eI Y AR AT B swA weAeEs BEd (7) F T W Ha @
HETT HTOIT?

] (@ [0]

Ans X 1.8
X2P
v :R
Xa+T
Question ID : 94891115272
Option 11D : 94891161087
Option 21D : 94891161088
Option 31D : 94891161086
Option 4 ID : 94891161085
Status : Answered
Chosen Option: 3
Q.99 e, facer #r wgT § AT AT B AT - HST T FEA T & A - FAT §) HTEAL Fnen A
T glor, HEAT F EAE &1 GO F FEA § F TG g7
Ans J
R
X2 qfy
X3 e
X 4 AT &7 TR
Question ID : 94891115250
Option 11D : 94891161000
Option 2 ID : 94891160998
Option 31D : 94891160997
Option 4 ID : 94891160999
Status : Answered
Chosen Option : 1




FT?

Ans  of 1. NRHG
X 2. OSHI
X 3. MQHF
X 4 NQHG

Q.100 v RTT T o #, ‘SNOW' ' ‘HMLD' forem e 1 & 38 %2 s & ‘MIST #r & frar

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115249
94891160995
94891160996
94891160994
94891160993
Answered

1
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